[ normalized x? probability |

107}

0.08

102 0.07

HEHE 0.06
Entries 1665516 Entries 1665516
3 T . [Mean 0.4921
10 0.05 R ] 7 |std Dev 03296

107

10°F
E 0.01F
lgmfe-...l... M P TS PR P PO PO P 10:...i'.'...i....i....i....i....i....i....i....i....
T
4
R R P A : I I
0'0 2 4 6 8 10 12 14 16 18 20 0'0 010203040506070809 1
X Prob(x?)
mmmm= DQM_mkFit_TT_baseR3_noSel_ok
e DQM_mkFit_TT_base_8iter_noSel_ok
wmm—= DQM_mkFit_TT_Retrainv2_8iter_noSel_ok
L ﬁ: S 15
R : : : : : by
< 1.8F----- e FREE LR e P .
RV : : : : : [ | S - S
AR SRR P e Feeees o
L N N N N N o
\%
F : ] R T R L P R PEET PP
[ P SEPE
Il Il Il Il Il
o ¢+ . ie]
T T ey
@ o L :
0 1 2 3
TP n (PCA to beamline)
A A E
2 2 18k
% < 1.6F-
v v E
1.4~
1.2F
-
0.8F-
0.6F
0.4F
0.2F
° e O
T T
14 4
0.5F
1C0'3 — 1072 107
AR(track, jet?
S
A
-
2
—
o
ke
\%

Ratio




	Contents
	Page 1


